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Honors Common Core Math 2 2" Quarter ODM Review
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1

A card is drawn from a 52-card deck. What is the probability of f}JOT drawing a face card or a spade? For <)
P(face ocspade) = Plfuce) +P(spade) - P FOLE L P(pr)= - A -
'Ysa + ¥Ysa2 -3/52 = s-"‘~/<:'.J. 1-%c2 =3%/c2
2. A bag of marbles contains 6 white marbles, 4 red marbles, 7 green marbles and 8 black marbles. What is the -;\I S‘/26
probability of reaching in a getting a green marble then a white marble withg

gplacing the first marble? S
6+ Us3 g = 25 Horal F e oudd _@
26 ° 24 oo - i

3. A math club contains 42% females. Of the females, 79% are taking Geometry and the rest are taking Algebra 2.
38% of the males are taking Algebra 2, and the others take Geometry.
A) Create a tree diagram to represent the information given.

42 3 Geom C(u2X ) = 3308
2 A2z (yX.2\) = .0 %E2
M b2 Geom (.s8)(.62) =.3596
oy kg 2 (.S8)(-3¢) = 2208

haiher‘oaiioaa!.haisai 0 p
B) What is the probability of a male t ’r(.&;gg(g'e ae{r&/‘): ,gs‘ib (23‘.‘?6’/"1

C) What is the probability of a student in the math club taking Algebra 2?

(4D (.21 + (.Se)-38) = .30F (z0.g6"%)

D) What is the probability of a student being a male, given a student that takes Geometry?
P(M | Geoer)= P(Mand Geam) (.58 ) .3596 _c50]

-

PlGeosS - (SEX.Q) +(.u2)(3a) -AIY o
4. Bob wants to buy a new Ipod. He can choose from 5 colors, 3 different types of memory, and 2 types of ga' "

headphones. How many ways can Bob choose an Ipod?

5.3 .3 :
color - Mera - Nealphon
5. A sports team consists of 16 players. The coach needs to assign a Captain, Co-Captain and a Team Assistant.

How many ways can the coach determine these positions? PC(MU"'Q-HO"\ C oAl r Matters \

b P =|33060)

6. There is a relationship between the radius of an orbit and the time of one orbit for the moons of Saturn. The
table below lists data for 11 of Saturn's 30 moons. Round answers to the hundredths place.

Moon Atlas | Prometheus | Pandora | Epimetheus | Janus | Mimas | Enceladus | Tethys | Dione | Helene | Rhea

Radius 1.38 1.39 142 1.51 151 | 1.86 | 2.38 298 | 377 | 397 | Ba¥
(100,000 km) ™
Time (days) | 0.60 0.61 0.63 0.69 0.70 | 094 | 137 189 | 274 | 274

452
1.6
a. Find fhodel for the data for orbital time versus radius. 4= 0.3F X
Pwc B€g in calcu\ater =
b. Predict the orbital radius of Titan, which has orbit time of 21.277 days. ’Lf -}S
Giver Y-vale 7~ y5: Q1,077 fiadintersecton
c. Find the orbital time for Phoebe, which has an orbit radius of 12,952,000 km. SS¥ daJS
Given X-va\ve —~2 j00, 090
Y1 (1245 2)
Solve the following. Show all your work! Use separate paper, if needed.
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x+)(3 7 Q+)\(x+'z) Fx = 14 (Y g X+1) =0 -
+2 +2 .y » Exclv
X x x? x\’ ¥24eQy 4b -Fx =1 Y H,O\> x:a\ve

X(x+2 :
b i S

8. Solve the followmg equation for x and write in set notation: -3~x 41=8
o 1
Lx 212 3

9. The current Iinan electrical conductor varies inversely. with the resistance R of the conductor. The current is
1 amps when the resistance is 360 Q. Use this information to write an equati the relationship.

. =X - ¥ y3-¥ k=130 [T=120

10. Explain how the function has changed from the parent graph. f(x) = —Jx+8-5

Cefecked o°¢ ? S
N o2 N
X -axs leCl—%‘\ d
11. For the functiony = -3 + 2¢0s(4x), find:
The amplitude 2] =

b. The period ?’00/1., -
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12. A building 200 feet tall casts a 95 foot long shadow. If a person looks down fromt the top of the building, what
is the measure the angle of depression? (Assume the person's eyes are level with the top of the building.)

- 200
o0 £+ Yon(Xx) "%."
opp- 4 o
13. Find all solutions to 2sin(2x) + 1= 0. ’\ ¢ X = e \ ( }-—-
yAY n(?ﬁaz -1 2%:

s S e ey

14. Find the measure of the indicated angle to the ne.aresT degree.

+&h(')()‘=._2-3'8 = fan (-21) 27 oPp
3
%= 3G° % od,;
15. Solve triangle ABC if angle B = 45 degrees, a = 28, and b = 27. ) Cale
EZZ JeBh=43.2°
¢ <C - 831.8°

16.When placing an order of candy fro an%n:[ine?s%::e.zyou have to choose from 10 avors of candy.

Each order must contain at least 4 dlffer'en'r types of candy. How many ways can you place an grde
’0C|,'..|.IOC§-+ 10 64- eC3? + 10Cg + 'GCl-lOClo '_.‘
17.We use 10 digits in our number system. How many 5-digit "numbers” can be formed if no digits are repeated and

zero is not allowed in the first position?
-9 -3 6 =[372Ik)

T)-q bot no repeats

novr O
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18.A bag contains 26 tiles with a letter on each, one tile for each letter of the alphabet. What is the probability of
reaching into the bag and randomly choosing a tilg with one of the fir'sf 10 letters of the alphabet on i
randomly choosing a letter with a vowel? \$* _S_ B [2Z - Yb. ey &
n Y2020 T 20 r!

19.At a local high school, the probability that a student takes Biology and Chemistry is 16%. The probability that a
student takes Chemistry is 42%. What is the probability that a student takes Biology, given that the student

takes Chemistry? p(g‘.a’ Chem) = P(RBw and chen) e g‘ « 2%, 19,

W ——
-

Plchen) T

20. There are 6 women and 7 men trying out for 3 positions on the TV show Survivor.

b+7 =13
a) In how many ways can the 3 positions be filled? I3 C 2 |2 b E

b) In how many ways can the positions be filled if all women are hired? ¢ ‘ 20 '
womnen -7 b 2

c) In how many ways can the positions be filled if 2 women and 1 man are hired?
C2-32C - 15-3 :L{_?jg

s ™
For each equation, draw a graph, indicating at least 5 points. Then tell its domain, its range, and other requested
information.
2L 5 if x<-2 22. f(x) = 2|x-31|-4 4,\\)‘6
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i PV i ™ glogolv¥e
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b ('“1003 R: (g, 00) D: ("°° =0) R: C’l‘l ‘o) ech.
ver

9('4):_6____. 9(3):_i__5(3)‘2 Changed from parent: rnq\ﬂ* 3. dow L' ‘w
4op cule 3
9('2)=_5__ g0)=_~2 f(-2) = b foy=___ 2
+op e 0)-2 21-2-3 2| o T} =¥

¥ . . | 5 IF I-Iﬂ H-l°‘q ‘.ﬂ z|_

23. Write an equation for th f y=— that has the asympfofesx =-2andy= - = 6-Y
X+ 2

Solve the following. Show all your work! Use separate paper, if needed.

24(\/51_7) "1\1 & FOIL. 25. (2x+3)3/4"}v ;,’(g q/r

Ix+3 = x2-2xFY %= 6, (G2 LT'—?/TX
0-)(1 (X""b 2¥+g‘lb/
0:(x -L)x+) |X:b 2% =1\3
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26. Find the measure of x. A ed):
cos (Sq): 24 —

b %
.3y = Y hy P
X® —or(s9) .
2r. Find the area of triangle ABC if angle C = 30 degrees, b= 6,and a = 8.

Area = J,}_a\os‘mc . -
5 Ji(g)(b)g;ﬁ(go) :[B UMt S ]

28. Given triangle ABC, find angle B if angle A = 143 degrees, c = 22,and b=17. (aw o¥ cosine
H

2:b24e?- 2(6Ne) Cos A
22 @ a
'# a:z 1?2?4227 - 2(\2 ; g
8 a'l__ .2 S\hor ¥ nd.: N B
5 _ ¢ Ja =330 @ satMY) " LB=
9. Solve triangle ABC if angle A = 70 degrees, c = 26, and a = 25.
A SSA S 2 1- . -1(1'-190(‘“?)):‘-%\]
26 : g 3 4
Case 2‘
C -29' B = 'o:-)-
LB  F.E"
30. ASolve triangle ABC if a=10,b =17, and c = 11. b = 2 'b
bl SSS -‘9. laws 0€ (oSine . L
Ak (D Big side S+ 132 = 10411 "= 20N ) ¢os G? pa
“g - - ;o‘b ‘ -
lo B “2re T 2% A C*O: M("z") =
Shert Snd

31. Given g(x) = 3x® - x and h(x) = 5x + 1, evaluate g(x + 2) - 4h(x).
(x+2) 2= (x*¥2) = Y (§x2V

xTFUR +U ) =% -2 'I.Ox -Y
3x*r\vax +\2-2) X E" -?X+"X

32, If x varies directly as the cube root of y, and x = 6 wheny = 27, find x wheny = 64.

=Yy bz KYzr x =2 %y

b= 3K x:2.4y —>x:=%
2z K
33. A summer camp offers canoeing, rock climbing, and archery. The following Venn diagram shows the types of

activities the campers like.

a) Find the probability that a camper likes canoeing and.archery.

EAY

b) Find the probability that a camper likes rock climbing or_canoeing.
MY L3 Jae M T32

? o  Jo ?-0 - 30
c) Find the probability that a camper does not like archery.

4g |2y
30 | 35




